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Unit 17 同步练习(1)
一、单项选择题

1.The average of books bought by him each month _____ 4. That is to say, an average of 4 books ______ bought by him.
A. is; are             B. are; is            C. is; is             D. are; are


2.Yes, I’d say you’ve made an excellent story, but your eyes _____ you were telling a lie.
A. meant             B. expressed         C. told             D. suggested


3.The soldier opened his mouth ______ to say something, but failed.
A. in case            B. ever if            C. as if             D. looks like


4.The Liberty Bell, formerly house in Independence Hall, ____ in Philadelphia (费城), was moved to a separated glass building in 1976.
A. which a historic building          B. a historic building which             
C. was a historic building            D. a historic building


5.When a pencil is partly in a glass of water, it looks as if it ______.
A. breaks           B. has broken         C. were broken      D. had been broken


6.-- Are you going to watch TV now?   
-- ________.
A. I would if I had the time          B. I am sorry. There is no answer.
C. All right. Thank you                  D. Yes, I agree with you


7.—Tom, would you like to come to our dinner party?   
--________.
A. Yes, I would     B. Yes, with pleasure   
C. No, I can’t come   D. Sure, it’s my pleasure


8._____ in an atmosphere of simple living was what her parents wished for.
A. The girl was educated           B. The girl educated          
C. The girl’s educating             D. The girl’s being educated


9.I would have called you _______.
A. if I knew your telephone number        B. but I had forgotten your telephone number
C. but I forgot your telephone number      D. if I would remember your telephone number


10._______ the expense, I ______ to Italy.
A. If it were not; go               B. Were it not for; would go       
C. Weren’t it for; will go           D. If it hadn’t been; would have gone


11.Nuclear energy may be dangerous if ________      
A. controls  B not controlling  C controlled  D not controlled


12.The palace looked splendid when ________     
A built   B was being built   C building    D build


13.Kathy knows much Japanese ; ________,he speak Chinese very well.
A beside   B in addition   C apart from   D except


14.The man made his car ________ because there was an accident ahead.
A get down   B slow down   C turn down   D go down


15.This is a newly-built country ,so everything is ________ construction.
A in      B under     C over      D on


16.Mr. Black was ill that day ,so Miss Avens came to the school to________ him.
A take place of   B take the place of   C instead of  D rather than


17.So many thousands of terrified people died________there was an outbreak.
A every time  B for the first time  C every other time  D at times


18.As soon as she entered the room , the girl caught sight of the flowers________by her mother .
A. buying   B. bought   C. being bought    D. were bought


19.It’s believed that________you work , ________result you will get.
A.the harder; the better   B. the more harder; the more better
C. the harder; a better    D. more hard; more better


20.The coffee is wonderful! It doesn’t taste like anything I ________ before.   
A. was having   B. have  C. have ever had   D. had ever had

二、阅读理解
1.The United Kingdom of Great Britain and Northern Ireland is the eleventh largest nation in Europe. England, Wales and Scotland make up the island of Great Britain, which takes up most of the Britain Isles. Northern Ireland, Scotland and Wales are mountainous. The highest mountain is Ben Nevis in Scotland. Plains and valleys cover much of England. The British climate is mild. About 58 million people live in the United Kingdom. Few other countries are so crowded. Four out of five people live in cities such as Belfast, Glasgow, and London. London is the capital. Great Britain grows half of the food it needs. Its industries help to pay for the food that is bought from abroad. The United Kingdom manufactures a wide range of goods. Service industries, such as tourism, that provide services rather than producing goods, are increasing. Traditional industries, such as coal mining, are declining.


(1).There are many mountains in ______________.
A. Northern Ireland, Scotland and England
B. England, Wales and Scotland
C. Wales, Scotland and Northern Ireland
D. Northern Ireland, Wales and England


(2).In the United Kingdom, about __________people live in big cities.
A. 58 million     B. 48.8 million       C. 38.8 million      D. half


(3).According to the passage, which of the statements is true?
A. Great Britain grows all of the food it needs.
B. The United Kingdom manufactures a narrow range of goods.
C. The speed of tourism in UK is increasing faster than producing goods.
D. The coal mining is also increasing fast.
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